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1. Please briefly describe

(@) Which data structure is suitable to be used by a program at run-time to process function

calls? (5%)

(b) Which data structure is suitable to be used by an operating system (OS) for job scheduling? (5%)

(Note: You must briefly explain your reason.)

2. What is the calculation results of the postfix expressions62/3-42*+and 623 * /4 *5 +? (10%)

3. Assume that you want to use a linked list to store students’ name and score. Please write the code of

a node in your linked list. (10%0)

4. Write the traversal result of the following binary tree: (a) preorder; (b) inorder. (10%0)

5. (a) What is a max heap tree? (5%)

(b) Given the following heap tree, please show how the elements 21 are inserted. (5%0)
(Note: You have to draw the immediate steps or briefly explain your reason for Question (b).)
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6. Given the following graph, please write its (a) adjacency matrix; (b) adjacency lists. (10%)

7. F - BAR; 40T (15%0)
int F (intn) {
if (n=0) return 0;
if (n=1) return 1,
if (n=2) return 2;
return (F (n-1) - F (n - 2) + F (n-3));
}
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